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Answer when coins are tossed at the same time.
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Toss 3 coins of 50, 10, and 5 yen. Toss 2 coins of 50, 10 yen.
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Find the number N for
all possible cases.
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How many ways can
three coins are head ?
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How many ways can only one
coin is head ?
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How many ways can
all sidesare the same?
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Find the probability that
all three coin are head.
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Flnd the probability that
only one coin is head.
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Find the probability that
all sides are the same.
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Find the probability that the sum of the numbers on the balls is 3,
when two balls are taken out of the bag,
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Take out one ball put it back
and take out one ball.
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4 x 4= 716 (87)

(7,7), (7,2), (7,3), (7,4)
(2,7), (2,2), (2,3), (2,4)
(3,7), (3,2), (3,3), (3,4)
4,7), (4,2), (4,3), (4,4)
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Take out one ball, and
take out one ball.
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4 x3= 12 (2:27)

(7,2), (7,3), (7,4)
2,7), (2,3), (2,4)
3,7), (3,2), (3,4)
4,7, 4,2), (4,3)
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2 balls at the same time.
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(2,3),
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Please answer the following question about rolling the dice once. Please answer when you draw a card from the next deck of cards.
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Find the number N
for all possible cases. N=4 X70= 40
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Find the probability of
a multiple of 2.

0 7
- 740 - 4
0, 2, 4, 6, £0 5@ LY
5 / n<Y o 'é;? kel 'é)\k
0 = 1 @ADHEERZRD K, @2DHEERLRD X,
— Find the probability of
the Ace card.
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Find the probability of
Y 2 the Ace of Spade card.
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a multiple of 2 or 3. Find the number of
Spade or Ace card.
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Find the probability that it is Find the probability of
a multiple of 2 and a multiple of 3. Spade or Ace card.
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Answer about the trial of tossing a coin. Head is O, Tail is X. Answer about the trials of rolling dice at the same time.
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Answer about the trial of tossing
4 coins at the same time. Z L. Z .
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Find the probability that
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Find the probability that
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Answer the question when choosing 3 letters and arranging them
in a horizontal line.

Choose 3 letters from a, b, ¢, d and
e and arrange them.
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Draw a tree diagram.
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How many ways can you arrange them?
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Arrange them and find the
probability that a, b, and
¢ are selected.
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When drawing the following two lots in order, answer the following questions.
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Write down all the ways to take
out the lots.

(7, 2), (7, 8), (7, 4), (7, 9),
(2, 7), (2, 3), (2, 4), (2, 9),
(3, 7). (3, 2), (3, 9), (3, 9),
(4, 7), (4, 2), (4, 3), (4, 9),
(5, 7), (5, 2), (5, 3), (5, )
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How many ways are there to
the lottery?
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Find the probability that
the first one will win.
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Find the probability that
the second one will win.
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Find the probability that the
only first one will win.
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Find the probability that

the both will win.
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Find the following probabilities when drawing one playing card.
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Draw the Red cards.
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Draw the Hart cards.
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Draw the Red picture cards.
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Draw the Heart picture cards.
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Find the folllowing probablity when one dice is rolled.
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getting a odd nummber
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getting a even number
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getting a 3 or more.
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getting a 5 or more.
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getting a less 3.
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getting a less 5.

7

KON 2 EHO A an T L x, ROMEE KD k.

Find the probability of the following when throwing large and small dice.

v

il i

HA TN

[ &

Eo) b
O Hom»Nelcksd,

(7,5 ),(2,4),(3,3)
(4,2 ),(5,7)

5
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The sum of the dice is 6.
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The sum of the dice is 5.
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(7,6)(2,3),

(3,2),(6,7)

The product of the dice is 6.

o) X
QHDEMNBIZRD,

The product of the dice is 5.
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4.
When drawing the following two lots at same time, answer the following questions.
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2 wins out of 5
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2 wins out of 4
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Write down all the lottery methods.

(7,2).0r,8),(7,4),
(2,8),(2,4),

(7.5),
(2.5) (3,
(4.5)

2,5 4),(3,5),
4,5
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Find the probability of winning
two lottery ticket.

I
70
IFh n<wo
(&ét@ﬂ1$@%$
*wa

Find the probability of winning
one lottery ticket.

(7,3 )0 4)(7,5),
(2,3 ),(2,2),(2,5)
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Find the probability of drawing 2 cards from the hearts deck of 13.
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Both are number cards.
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Both are picture cards.
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Find the following probabilities when drawing one card. When drawing the following two lots at same time, find the following probability.
v En LA ED e .
{5l i {5l i
[0 <h [0 P 5
DA~— &3, DHEO~—2 &3 <., (104K 7= 0 2% 34 | T8 T iz 0 % 2 K
Draw the Spade cards. Draw the Black cards. 3 wins out of 10 9 wins out of 8
e b iEh b
ST - ) 2AEbE7- 2, M2A L b L7722
52 4 Win both lotteries
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Draw the Ace of Spade cards. Draw the Ace of Black cards. /0(1‘2 — /0 X9 =45
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Find the folllowing probablity when one dice is rolled. 2 X7
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Find the following probability when rolling large and small dice. 45 -5
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The sum of the dice is 5. The sum of the dice is 6. /j’(@%’é?%*&) I,
7y 2.3 If four people are selected by lottery from six men and four women,
( ) ( ) find the following probability.
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The sum of the dice is 10. The sum of the dice is 12. /004 = Z X3 X2 X/
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The sum of the dice is multiple of 5.| The sum of the dice is multiple of 6. 57 DEV T
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Find the following probability when drawing one card from a deck of numbers.
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Draw the Heart cards.
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Draw the Red cards.
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Draw the multiple of 3 cards.
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Draw the multiple of 4 cards.
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Find the folllowing probablity when one dice is rolled.
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getting even number
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getting odd number
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getting 4 or less
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getting 3 or less

@4k KXV HAHS,

getting 4 or more
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getting 5 or more
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Find the following probability when rolling large and small dice.
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The sum of the dice is 5.

(7,4),(2,3),
(3,2),(4,7)

o) el
OHOMMN 61275,

The sum of the dice is 6.

@ AN 55,

The product of the dice is 5.

5 ), (5 ,7)
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The product of the dice is 6.
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When deciding the order or selection of participants by drawing lots,
answer the following questions:
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